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1. Round each dollar amount to the nearest cent.

a.$168.257 b. $57.234 o  c.$339%

$1L8. 26 $57,22 $3.40

2. If you purchase something in Washington State, you have to pay a statewide sales tax of 6.5%. Find

the salesF,)t&;( E)nﬂé:(‘%rg}f‘s-e of $33.60. < l’IWJI‘CM-h

X _ LS .065(33.L0)
33,60 /OO N = $31%

|10 s(33.6) — $2,1% —_
% é“;%%s‘: 2% The Salows +ag s $2.15

3. Some localities add on a local tax to the statewide sales tax. Seattle adds on a local tax of 3.1% to the
statewide sales tax of 6.5%. Find the total sales tax on a purchase of $45 if you purchase it in Seattle.

Tot= L +D\~,( %-l""&;.g q.b7o

X aq ,09b(4S)
4s ~ 100 = $4.32

ooy = 4S(IED = 432 i dap b 4,32

4. If a shirt costs $25 and the employee discount is $1.25, what percentage is the employee discount?

ey % v IS
AS |0 _:fl,_§" = ,0%
ASX = 2SC0D | o 7, <9
25 FEy Theo OLLScou,d' X
5. If a house is worth $250,000 and the property tax is $3,750, what is the property tax rate?
g7so  _ X 37s® =
2SD00D OO ZSDODD Dl;
_9 .S Jo
2sp000x = 3750CURD ~ |, Sk
Zsp,000 255,000 The f2n "“L‘g%

6. A book normally sells for $16.50 and is on sale at 40% off. What is the sale price of the book?

% Yo Su.,PW S lNN"\ZLLJE

I&SC = o S
100x = Yo(1bSe) P
“Too loo = ¥9.90
X= $L.LO
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2 ,Ihe tuition at PCC increased from §1267 er term to Srl‘2791w perterm.

a. What is the increase in tuition?
Yi2q1= 12607 = a4

b. What is the percent of increase in tuition?

a4

A

1267

(o)
1267 = :jﬁto% = [ 9
8. A company decreased thei rkforce from 1000 to 950 employees.

a. What is the decrease in the workforce?

HD Qmplouif_e.g

b. What is the percent of decrease in the workforce?
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9. The boss says, “Remember last year when business was bad and | cut everyone’s salary by 10%? Well,
we have had a better year and | am going to raise your pay by 10%!”
Will the employees’ salaries be the same as they were before the salary cuts? Show your reasoning.

$10/hr-

add_

1ol mfiaf

1O Jo

A0((0) .00

.IDC‘B =$, 90 yowarc onla wmak_

10. Use the information on the paycheck stub to find the tax rate for the federal withholding, worker's CI' ?
compensation, Medicare, and Social Security taxes that were deducted from the gross pay.

Check Date: January 12, 2012 | Employee # 460927
Gross Pay $520.00
Taxes
Federal Tax S 46.80
Worker's $ 16.90
Compensation
Medicare $7.80
Social Security S 38.48
Net Pay $410.02
—
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